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(x=1)(x-2)(x=3)(x—4) +m
=x-1Dx-49)x-2)(x=3)+m
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x?-5=1 2 g5t
(t+4)(t+6)+m
2 +10t+24+m
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(x+2)2 - (x+2)(y—1) - 6(y - 1)2& A=h5tA?

D (x+3y-1)(x—2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x-2y) @) (x- 3y +5)(x +2)
® (x-3y—-4)(x-2y+1)

~&B

x+2=A, y—1=BZ X|35}H
A% —AB-6B% = (A +2B)(A - 3B)
={(x+2)+20- D} {(x+2) -3 -1)}
=(x+2+2y-2)(x+2-3y+3)

= (x+2y)(x=3y+5)




3. a, b, c]=(a-b)a—c)F W, [a, b, c]-[b, a, c]E AFTENIH,
(xa+yb+zc)(pa+gb+rc) oItk ol W, x+y+z+p+qg+r Y
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(@=b)a=c)=(b-a)(b-c)
=(a-b)la-c)+(a-b)(b-c)

— (a-b){(a-c) + (b))
=(a-b)(a+b-2c)
LX+y+ztpt+gtr
=14+(-)+0+1+1+4(-2)=0
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o2 3 x%H? - %y - xy? +xy 9 A=Y

@x—l @x+1 Oy+1 @ x+y

x2y? —x%y —xy® + xy = xy(xy —x—y+1)
=xy{x(y-1)-0-1)}
=xy(x-1)(y-1)
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102
262 + 40% 4 492 — 162 — 302 - 39

S & Aatstolal,

I = (262 - 162) + (402 — 30%) + (492 - 39?)
= (26 — 16)(26 + 16) + (40 — 30)(40 + 30)
+(49 — 39)(49 + 39)
=10x42 + 10x70 + 10x 88
= 2000
_ 10°
" 262 + 402 4- 492 — 162 — 302 — 392
160 +1

~ 2000 20




7. a-b=2V32 W, a®+b*>—2ab-3(a—b)-12 2 G2

@)-6v3 @ 1-63 ® 2-6+3
@ 3-6V3 ©® 4-6V3

(EA) = (a-b)* -3(a-b) - 12
=(2V3)2-3x2V3-12
=12-6V3-12=-6V3




